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[3] [A]
M-I (PART - I)
99 9% 9 fRNE (CHILD DEVELOPMENT & PEDAGOGY)
fdsr : R g7 % v &7 % [ @e9g SfEd Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Th G &l Tg’@ e 1. A type of intelligence test in which

the difficulty level of questions

P AT A gradually increases and the time
factor is secondary :

[1] qnfeses gderr [1] Verbal Test

[2] QqfRT 9ReToT [2] Power Test

[3] i e [3] Speed Test

[4] FIES gRieror [4] Performance Test

o
>

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety

BN W F U RS gerR @l of learning activities to improve their
drEm & TffafEl #1 ST &R R understanding of a subject :
[1] ag—a’éﬁ AT [1] Multi-sensory learning
[2] & fareror [2] Team teaching
[3] G’ SARFH [3] Co-operative learning
[4] SASERfAT STfeFH [4] Programmed learning
3. 3. Spranger's classification of
b & b SUFW | Hefd & ? personality is related to which
approach of personality assessment ?
[1] QﬂFI'TT SUTH [1] Trait Approach
[2] 9 SUFH [2] Type Approach
[3] 9o g IUH [3] Instinct Approach
[4] TfaSQYeT IUNH [4] Psychoanalytic Approach

Level-3/908 P.T.O.
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[1] s g § &
[2] Sfles § He
[3] AT el T | H S

[4] Sraifee Rt |/ g

Y I BIC AR W The FX &

ST & 7
[1] &5
[2] SR
[3] w&9er
[4] fawemas

g

[1] g&sT ugfl
[2] 7 sigfee
(3] &

[4] e
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Which of the following is not a
symptom of good mental health of

students ?
[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which

type of defence mechanism ?
[1] Repression

[2] Regression

[3] Projection

[4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive

behaviour', is termed as :
[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation
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R fhar o g ® -

Tz ol 28 vefed #e”
Haeds g5 & g8 i
g7

[1] Saa Meds

[2] AR wd GeX Gl

[3] GleX Td HEw

[4] EaEd

|

B T g fafy 7R ?

[1] HTeTehT
[2] w&9er

[3] UsHTEs
[4] STa@ie

|«©

g, g IR & fw s e

fpe oM @ T Sehe X © 7
[1] TR &0 ~EH

[2] S| 1 fEH

[3] g9 &1 |

[4] sgdfcishar 1 fEm

TETE 7

[1] STERYT &R
[2] iq &)
[3] STt &Y
[4] R &R
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[A]

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who

emotional intelligence ?

gave this definition of

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a

direct method for measurement of
attitude ?

[1] Interview

[2] Projection

[3] Questionnaire

[4] Observation

'A horse can be brought near water,
but cannot be forced to drink.' This

truth of
Thorndike's which law of learning ?

[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses

statement reveals the

Which of the following is not a level
of teaching ?

[1] Basic Level

[2] Memory Level

[3] Understanding Level
[4] Reflective Level
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11.
qiifRefoen o fosia &1 9 7@ ?
[1] =reeht RreeH
[2] A foew
[3] ATER foeeA
[4] B9 e

12.

T e 7al o !
T FSRE
[1] g S REIN]
[2] S - T
[3] eTs=d - e
[4] 9T - qrEA
13.

HIF-| A Faits ST o 7

[1] QST 9 =4t

[2] FESTs qedl W Fee SiEi
[3] arfesh TiciafeEl & s
[4] QIS Gegi W g

14. AW 3 SMEED

JHR P AR ©
[1] AT

[2] HHIfSTe

[3] S

[4] HerTeoeh

Level-3/908

[6]

11.

GET IT ON
Google Play

Which one of the following is not a
part of Bronfenbrenner's Ecological

System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

Which way is the most appropriate

for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

Need

Hierarchical theory, 'Esteem Needs'

According to  Maslow's

are which type of need ?
[1] Personal

[2] Social

[3] Intellectual

[4] Emotional
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[1] STETERET YA Gaef Hd

(2]
el

[3] I YR G FE

[4] Q81 ©d STAM el de Hri

et
fftrTarett & dev § w2 7 B ?

[1]
IR

[2]
T gefaq & gl 2

[3]
STEET B g Har 2

[4]
HARIBA & HROT A Bl &

S B BT A & 7
[1] Sffare
2] gead
[3] AT
[4] STl
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[A]

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task
[3] Product improvement related

task

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1]

No two persons can be exactly

alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

Who is called the father of Trait
Theory for study of personality ?

[1] Allport
[2] Woodworth
[3] McDougall

[4] Eysenck
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BI-T Gl I H 8 Fer e 7

[1] g iR e
[2] SerT ST deer
[3] G AR T

[4] Ser R e

q B9 Y& H TH TER TeT S ¢

I REESERIES
2] G
[3] dsifoes
[4] @RI

Aifer Rl gftaferd & od § ?

[1] yE-SieT™

[2] e

[3] ITR-Tiewd
[4] T @ B T

% G e 787 R ?

[1] T HiEBIoT & ofae B

[2] T STEaRdaBrell B ST 3
[3] T& TEOH @ G F T o
[4] 98 A RH P &S 2l
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18. Which of the following pairs of

9. According

21.

communication skills is correct for

receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,

which of the following is not a type
of intelligence ?

[1] Analytical
[2] Creative
[3] Theoretical
[4] Practical

According to Kohlberg's theory,

what level of morality is it, when

morality  includes  self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional

[4] None of these

Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.
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[1] | wd 97
[2] %

3] el

[4] ST Td ed

fPor S &, @
g STgEA © 7

[1] fivea st
[2] aRacHei STgar
[3] fHigea efqua
[4] aRec=siie sfaa

fepSTRTaeer & :

[1] s arefaean @i sTaee
[2] EE@ &l AfRar i aTae
[3] TR A & e
[4] @ Afar @i oTae

P THRETH & G TG Bl & 7
[1] PN fawesyg
[2] GRYEAT i HH
[3] SARRET & HH
[4] FerToTh g
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Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback
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FAT 5l T8 T SaR ©
[1] oTiaRe SIREReT %
[2] ST&I AR &

[3] STHSTI SARERET &
[4] 39 q %13 &

21. T 15
grfl, STafh Ie AR oy 128 7

[1] 80
[3] 100

2] 90
[4] 110

fFrifafeaa & & SF-91 & 787 B 7
[1] Bferpar B M

[2] 9 & G BT

[3] ufcfsrar &l wcr

[4] FTERl RidT 1 aREr

FHEA ©

[1] s @iea

[2] S

[3] &

[4] g

T @ 9 5 SR w AR § 7

[2] et
[4] @mISTS

[1] s=a
[3] ST

[10]

27. What
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Rohit helps others to get praise. This

is an example of :

[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

be the
quotient of a 15 year old boy, when

will intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality

[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking
Development which proceeds from
'centre to the periphery', is known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/908
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[T - II (PART - II)
A7 (= g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

3. W # e ¥ o
E

[1] T - d«eY], I,
Ty
2] ™€ - 944, HE, FH
[3] MR - e, dRIHT,
R(Eel
[4] T - SR, STER, MY
32.
gam 7
[1] &5 79T HH @I HIT T
[2] A9 T GHIRY, S drer AR
[3] &9 fopdl &1 B eI fae wehdl
[4] StET HAT, a9 & T
33.
g7
[1] SIadrE
[2] Jfcares
[3] GRHTETES
[4] WA=

Level-3/908

34.

Iftc & §97 faseq R -

[1] €8 - 38 dfed; T8 - de
(2] g3 - T AT - A

(3] G - Feb; Gl - goaarg
[4] @S - &Y; So1 -

JETEX BT ?

[1] SHEEares |
[2] STifcarees gsT
[3] HTedTErh Gl
[4] eAfeRTaT=e dsT

36. FTH § BHI-61 qH FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] i # STOT Aver X T B

371. fpH 9=
ST e & 7
[1] STeaTqh [2] ST
[3] STgeH [4] =y
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[A] [12]
38. {UE F 3t | o7 fasbed gT ¢ 42.
[1] Fheal - HHERE ST 7] §M & ?
2] WRERE - AT [1] TRiee [2] weTEE
(3] It - fa (3] gae [4] T
[4] &b - SgAIRe 43.
39. pd faeheq # et @ffg &1 wan e B
g7 [1] &
[1] ghifex 2] e
2] = [3] d1g
3] TR [4] &=
[4] FeeR 44. Oy’ 9= § Ff e B
40. [1] qrerfees
e 3 9 9 9= & Ued o 7 2] T
[1] o 3] v
" Ql.m [4] 9
[3] I
[4] =i 45. ‘ToAm-qgH’ W g ¥ oIT
a1, P A ofe & o R SR - I
[1] Sucl - i DU
2 5gE - e 21y - ™
3] & - IO [3] qmrT - G
[4] T - ueE [4] 7&K - e
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[13] [A]
31l (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
overlooked. [2] (1), (iv), (1), (ii1)
[4] Although he is not cute, but he [3] (iii), (iv), (i1), (1)
cannot be overlooked. [4] (iv), (ii), ), (iii)
41. Change the narration : o )
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... .
be kind to him.
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be
please kind to me. [3] has been raining
[4] Kavin asked Mr. Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that
o form of verb : is grammatically incorrect :
You had better ............. your The thief took towards/his heels/on
hands before you eat. seeing/the Police-van arrive.
[1] been washing [1] The thief took towards
[2] washing [2] his heels
[3] washed [3] on seeing
[4] wash [4] the Police-van arrive.

Level-3/908
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53. Choose the part of the sentence that

eY

is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[14]

GET IT ON
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57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since
2 O'clock in the morning.
Mr.

from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/908
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91T - III (PART - III)
Y 1999 (GENERAL STUDIES)
TR AT, il SINEHAT T 9T &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

6l. TIRA & G99 X TN Y AT B -

TR W TE Ye ol A Y
X3 TR AR @&, @Y
P R & & 7

[1] SdY
[2] afror

3] @@
[4] Ui=™

fGem # 3 €@ H, Tafh aIel 4.5 9
T HE 31 AR gRT P oA 3

I T -

[1] 10 feHt wiet ger
[2] 12 Tt ufey et
[3] 13 feHl ufet et
[4] 15 TebHt et ger

10.5
ey, 3.5 99 B @ 3
>

e ol Rt ?
[1] 112 [2] 126
[3] 132 [4] 138

Level-3/908

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East

[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138
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[A]

AR | 3
e 32
e =X B :

(1] 162%

2] 3319

[3] 33%
[4] 50%

65. 1865 @RI H #, 660
g &Y 1305
120 &
o TR 8,
I T & 7

[1] 220
[2] 440
[3] 120
[4] 1085

66. TEA H HEd T 20%
T UH JqEH 800 &9 ° 12.5

I B S e feeel ©
[1] 12 59
[2] 14 59
[3] 1589
[4] 16 B9
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If the amount is 3§ times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

(1] 162%
2] 331

[3] 33%

[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons

can speak both languages ?
[1] 220
[2] 440
[3] 120
[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12
[2] Rs. 14
[3] Rs. 15

[4] Rs. 16


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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AR B 12 A JT AEA H S
T 31 AR IEH qUEA 36 &
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

B e O L e A | (< 3 L

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d&m M 5, 9, 13

H T HEAM: 2, 6 T 10

Tl UE 999 Bid e ®

[1] 602 [2] 592

[3] 572 [4] 582

U iREd g 9o § "PARTICLE"
& "USBQFMDJ" @1 "GENERATE"
@ "FOFHFUBS"

M F< 99 H, "DOCUMENT"
fer@m ST

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

Level-3/908
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GET IT ON
Google Play

[A]

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826

Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10

respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" 1S written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"

will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF


https://applink.adda247.com/d/XhqWf9lSap
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[A]

eY

71. O Jat P, Q @R &1 U% % 5

T 9RaT 81 79 R, Q

ar Q, P

3P 79 P

TR M 7

[1] 22 &2 [2] 25 &2

[3] 30&e [4] 35€
S =l rt

x*+y® @AM g

[1] 14 [2] 12

3] 13 [4] 16

qeieal B TH Ui H, A
104 = X g B g s & 14
(&S]

T adl &, O A SRt SR @ 24

e fhaHl B 7
[1] 31 [2] 33
[3] 37 [4] 39

14. Uh GHMER Th a8 A 15%

ST 3, OFR 369 39 18 59 aift
g o= g, @ S°w aM 18%

Sl 39 a&] 1 %9 9 (B0 H) ® ¢

[1] 360
[2] 540
[3] 600
[4] 640

Level-3/908
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11.

La. If x

GET IT ON
Google Play

A tank is filled in 5 hours by three
pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P

alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs
[3] 30 hrs [4] 35 hrs
=@and y:E,, then the
J3-1 \/§+1
value of x*+y* is:
[1] 14 [2] 12
[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If

they interchange their positions, A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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15.

Th HE H SEEr 9000
B ST giE & 5%
B e W 8%
STEE 9600

g

[1] 3000
[2] 4000
[3] 5000
[4] 5600

D,CAmE @ @18, A, E
T TR, C, A =T ®, D, B

LEC IS A
[1] A
2] B
3] C

[4] D

17. Uh o

XA BT X ¥ %el i ‘g8 W amr

N X & 66 sR ddeg B ?
[1] fo
2] W%
[3] &

[4] =T
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15.

GET IT ON
Google Play

[A]

The population of a town i1s 9000. If
the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of

males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?
[1] A
[2] B
[3] C

[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the

girl related to X ?
[1] Father

[2] Brother

[3] Sister

[4] Mother


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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18. 78. A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train

fasm e ? would blow in which direction ?
[1] So-To [1] N-W

[2] So-TYo [2] N-E

[3] To-Yo [3] S-E

[4] o -Yo [4] S-W

79. 9 €@ Ao HT AT TS B ¢ 79. The next term of the following
number series 18 :

3,13,22,32,59, 69, 120, 130, ? 3,13,22,32,59, 69, 120, 130, ?
[1] 201 [1] 201
[2] 211 [2] 211
[3] 227 [3] 227
[4] 232 [4] 232
80. 9 i TS W AT 7 80. The average of nine consecutive
numbers 1s n. If the next two
SQ, aF T4 e e & s ? numbers are also included, the new
average is :
[1] T8 999 W@ [1] remain the same
[2] 1@t Q_ﬁx’ IR [2] increase by 1
[3] 1.5 @I gis erft [3] increase by 1.5
[4] 2 @ q@ Bl [4] increase by 2

Level-3/908
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A ciftrafe R T ¥ 7

[1] MY TE I X e
FeIg ARG

[2]
FISIg STHIY

[3]
IR geila A9IReg

(4]
G- a=aoild TRy

82. fr=ifhd weMi W faR ik -
(1)

AT a9 2002 § & T3 oy

(i1)
7B qrebgaR o
[1] &aw (i) @21 Bl
[2] Baa (i) T B
3] ()T (ii) AT T&
[4] ()T (i) AT T 2

BT % ®q § AT A B 7
[1] ToI™ [2] AT
[3] 9aa [4] Prarit

Level-3/908
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8l.

GET IT ON
Google Play

[A]

Which places of Haryana have been
site under

Ramsar convention of UNESCO ?

notified as Ramsar

Park &
Bhindawas Wildlife Sanctuary

[1] Sultanpur National

[2] Kalesar National Park &

Khaparwas Wildlife Sanctuary

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first
Lokayukta in the State of
Haryana.

[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram [2] Sonipat
[3] Panipat [4] Bhiwani

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
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[A]

86.

= |V

T ?

(i) G TG F THIA
(ii) S AR dras

(iii) HrRAr AT Bt
7& HE F T HT
[1] (i) &R (i)

[2] (i) R (iii)

[3] () A (i)

[4] (i), (i) & (i)

q HI-A Ger fFeer ® 7

[1] BREH

[2] geT

[3] CeTHARAEEE

[4] TSTem JERT s

frffeq & @

oI & ERT ga 787 Bl © ¢

[1] REmT & gegus

[2]
T

[3]
=

[4]

Level-3/908
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GET IT ON
Google Play

84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the of
Haryana ?

Governor

[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission


https://applink.adda247.com/d/XhqWf9lSap
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eY

DI TH AHENE o 7
[1] g GoT i
[2] oG ol BTl

[3] &fveh AT Hed

[4] 919 TREE

fFriiiae el @ aien

TR #X @ R
(i) U&% gRaX H

T W ' AR weEH (ID)

STrer S|
(iii)

RECIR

ST A Dl STAFHA 18] arlll
7& FT B T HIT
[1] Baa (i) T B
[2] () &R (i) & B
[3] (i) o (i) T& B
[4] (i), (i) &N (iii) T |
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81.

GET IT ON
Google Play

[A]
Who among the following Governors
of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(i11) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (i1) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.

[4] (1), (i1) and (iii) are correct.

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
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[A]

eY

frrfafad womi WX faR iR
(1)
et 2
(i) I8 TA
qRYT P T 2|
(iii)
ERATT T AqET & T &

(iv)
wiaaag afd o< =&

SEH d § H-A/8 BT g8 oo !

[1] (), (i), (iii) 3R (iv)
[2] (i), (iii) X (iv)
[3] %9« (iii)

[4] (ii) ST (iii) FF

de 2

[1] 7 3R 4
[2] 10 3R 4
[3] 108iR 5
[4] 128R 5

[24]

89.

GET IT ON
Google Play

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(i11) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary power granted

under the Constitution.

Which of the above statement(s)

is/are correct ?

[1] (1), (ii), (iii) and (iv)

[2] (ii), (iii) and (iv)

[3] Only (iii)

[4] Both (ii) and (iii)

The Lok Sabha and Rajya Sabha
seats in Haryana are :

[1] 7 and 4

[2] 10 and 4

[3] 10and 5

[4] 12 and 5

Level-3/908
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[A]

¥R - IV (PART - IV)
JTdSIE (ECONOMICS)
3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

GIES | CEKS|
AfE o :

@
(ii)

Urerdt o
GISEIRISREL

(iii) St I

(iv)

Tq4l e

el He AT

[1]
(2]
[3]
[4]

[1]

(2]

[3]

[4]

1, 11, 111
11, 111, 1v
1, 11

i, 1v

sl w9 B e

ged §

fo & ®

Sedr B

Iy e B §

Level-3/908

9l1.

92.

Identify the Five Year Plans when
actual growth realization has been

higher than the growth target :
(i) Fifth Plan

(i1) Seventh Plan

(iii) Ninth Plan

(iv) Tenth Plan

Choose the correct code :

[1] 1, ii, iii

[2] ii, iii, iV

[3] i,ii

[4] iii, iv

A Progressive Tax is one in which :

[1] The tax payment as a percentage

of income falls

[2] The tax payment as a percentage

of income is constant

[3] The tax payment as a percentage

of income increases

[4] There is no linkage between

income and tax payment


https://applink.adda247.com/d/XhqWf9lSap
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[A]
93. 39N (Caption) & o1 & :
[1] |relt & sl
[2] @M T Sfi®
[3] dfeT &1 Sfieis

[4] SNd @ S

94. UGS BT @ 77 ofal @ :

[1] ART a&gell W
[2] QeI aegelt W)
[3] ol agetl

[4] & a&gell W

w7 7 P HT THA o 7
[1] w5 S
[2] w7 ST
3] Rer s
[4] ST G+l
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93.

95.

GET IT ON
Google Play

A Caption means :

[1] Title of the table

[2] Heading of a column

[3] Title of a row

[4] Heading of source

Exclusion principle is not applicable

to:

[1] Merit goods

[2] Public goods

[3] Private goods

[4] All goods

Which type of deposits may serve as

a medium of exchange ?

[1] Time Deposits

[2] Demand Deposits

[3] Fixed Deposits

[4] All of the above


https://applink.adda247.com/d/XhqWf9lSap
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(AYUSH) # aftafeq 7&f & ?
[1] Tenued

2] g
[3] SfEu

[4] AR

3R g HXAl § ?
[1] HFd &) A
[2] F=di | gfs
[3] rasr & &t
[4] #9d & | gfs

98. ST &l Wpiash &X a8
0 :

[1] Feresifer @ &X Rer 2 &
[2] eI @l &Y SifReR 2l @
[3] YETERIT P & g o
[4] JETEHIfT H & Fea o
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96.

GET IT ON
Google Play

[A]

Which of the following is not

included in '"AYUSH' ?

[1] Allopathy

[2] Ayurveda

[3] Homeopathy

[4] Unani

97. In Classical theory, a decrease in

money supply leads to :
[1] Decrease in price level
[2] Increase in savings
[3] Decrease in investment

[4] Increase in price level

Natural rate of unemployment is the

rate of unemployment, at which :

[1] Rate of inflation is stable

[2] Rate of inflation is unstable

[3] Rate of inflation is falling

[4] Rate of inflation is rising


https://applink.adda247.com/d/XhqWf9lSap
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[A] [28]
99. frfifag & @ @H- 99. Which of the following is not a
qRURE o 78 § 7 conventional source of energy ?
[1] T [1] Coal
[2] R ot [2] Solar Energy
[3] Ugiferam [3] Petroleum
[4] Trpfcrp 4 [4] Natural Gas
100. AT HT qAIdsme R 100. Psychological law of consumption is
given by :
[1] e HrEiE 3 [1] Milton Friedman
[2] i A [2] Pigou
[3] 2w A [3] Tobin
[4] [4] Keynes
101. = T PHE-AT FHE TRl 78T g7 101. Which of the following relation is
incorrect ?
[1] GDPMP= GDPFC + ﬁfﬂ?&' lTa%T [1] GDPMP= GDPFC + Net Indirect
B Taxes
[2] NNPgc = NDPjc + facalt & o [2] NNPgc = NDPgc + Net Factor
ﬁ[%l?s{ SICG IR Income from Abroad
[3] GNPyp = NNPgc + JoI8H + [3] GNPyp = NNPgc + Depreciation
IS T + Net Indirect Taxes
[4] NNPMP= GDPMP + W + [4] NNPMP= GDPMP + DepreCiation
+ Net Factor Income from Abroad

Level-3/908
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ST @

[1] a%gell & Frfd qur o &
[2] Garall & FrRia o ST &
[3] THUE BN A

[4]

103. 9 H Sflo THo do (GST)
T ge -

[1] 1 5, 2017 &
2] 1 a8, 2016 &
[3] 1 %, 2017 &

[4] 1 34, 2016 &

R 787 fhar < gt & ?
[1] 9"

[2] AR

[3] g
[4] =g

Level-3/908

GET IT ON
Google Play

[A]

Current account of Balance of

Payment records :

[1] Export and import of goods
[2] Export and import of services
[3] Unilateral transfers

[4] All options are right

GST Law came into effect in India

from :

[1] 1 June, 2017

[2] 1 July, 2016

[3] 1 July, 2017

[4] 1 June, 2016

Which of the following can not be
determined by Graphic method ?

[1] Mean
[2] Median
[3] Mode

[4] Quartiles
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[A]
105. /=1 & @ 39-
il & e 78 & 7
[1] I8 &Y
[2] STSITeT Y
[3]
GIEIE]

[4]

106. I 99 & RN o
2

[1] T=hrd aftfar
[2] =R @
[3] &= I S
[4]

107. 9HI-
39
[1] Ple Pl():O
[2] Fyy X Bo =1

[3] Fy; X Pp>1

4] P x P <1
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GET IT ON
Google Play

105. Which of the following is not an

example of revenue receipts of

Government ?
[1] Direct taxes
[2] Indirect taxes

[3] Dividends on investments made

by the Government

[4] Loan received from World Bank

Institutional sources of rural credit

include :

[1] Cooperative Societies
[2] Commercial Banks
[3] Regional Rural Banks

[4] All options are right

when :

[1] For X Bp=0

[2] Fyy X Bo =1

[3] Fy; X Pop>1

4] P xP <1
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eY

BN =y

(i) STuasii

(i) STEAN

(iii) §AT

@&l %2 AT

[1] () @& (i) A9 §Ha

[2] () TG (iii) aFF G99

[3] @adt (i) §9a

[4] (i), (i) Td (iii) @1 g9

T it & d=w § e A @ a-
HI el 7@ © !

[1] g 9ff wh &b =X &

[2] g0 U & Hi3 G
2

[3] M,
AT § o 9TM g =\ 8l

[4] M, 951 9 & @99 T A9 2
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[A]

108. For the calculation of Arithmetic

Mean the Class Intervals should be :
(1) Exclusive

(i1)) Unequal

(ii1) Equal

Choose the correct code :

[1] Both (i) and (ii) are possible

[2] Both (i) and (iii) are possible
[3] Only (i) is possible

[4] All (i), (ii) and (iii) are possible

Which of the following statement is

incorrect regarding money supply ?

[1] The supply of money is a stock

variable.

[2] The supply of money does not

have any time dimension.

[3] M5 is the most widely used

measure of money supply.

[4] M, being

measure of money supply.

the most liquid
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110. fIERYT o6 H1 AW 100%

3, 9 :

[1] o<
2] 6>
3] o=

[4] 6<

s 2021

(HDD) & 9Rd & &N B :

[1] 130

[2] 132

[3] 128

[4] 134

T |aerer 2019-20
d% @ 2019

IHT H qRG B W §

[1] 65
[2] 79
[3] 63

[4] 112
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110.

GET IT ON
Google Play

The value of coefficient of variation

exceeds 100%, when :
[1] o<
2] 6>
3] o=

[4] 6<

India's Rank in Human Development
Index (HDI) in year 2021 is :

[1] 130
[2] 132
[3] 128

[4] 134

According to Economic Survey
2019-20, India's position in World
Bank's

rankings, in 2019 is :

‘ease-of Doing Business'

[1] 65
[2] 79
[3] 63

[4] 112
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113. f=ifofeg & @ ®9-@1 &9 & 78

37
[1] T°F Heqwre £ 1 8K 8

[2] Y&, SEY foaas & @i &ir Bl

[3] 't A% i
H B T A B Bl

[4] 71eA fage, S99 foee @l 4
BT

50 TE-HeEl W OFEW faERE 6.5
A Feh TG B S
SERCICECERE IR

[1] 11.5
[2] 6.5
[3] 1.5

[4] 32.5
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Google Play

[A]

113. Which of the following statement is

incorrect ?
[1] Perfect correlationis * 1.

[2] Variance 1is the square of

standard deviation.

[3] 'r' is significant if it is less than

six times of standard error.

[4] Mean deviation is i of standard

deviation.

The standard deviation of a set of 50
items is 6.5. If value of each item is
increased by 5, then the standard

deviation will be :
[1] 11.5
[2] 6.5
3] 1.5

[4] 32.5
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[A]

fo &, @ e @1 A1eg BN

[1] Tga & w1
[2] 957 | BIa
[3] S&% & SN

[4] LA

116. TH TSI
3T9fRTOT T 919 R :

[1] O-1a%
[2] 0-4 a%
[3] 0-6 a¥

[4] O-7
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If a

positively skewed, the mean of the

frequency distribution is

distribution would be :
[1] Greater than Mode
[2] Smaller than Mode
[3] Equal to Mode

[4] Zero

Measure of dispersion which is

affected
observations is :

most by extreme

[1] Range
[2] Quartile Deviation
[3] Mean Deviation

[4] Standard Deviation

The relevant age group for

computation of child sex-ratio is :

[1] O-1 year

[2] 0-4 years

[3] 0-6 years

[4] O-7 years
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18. =il § & &

foram ST @1 B 7
[1] Srifees g
[2] TR ETeT
[3] ST =T

[4]

% foTY ISR 1 & i & 7

[1] fadias &=
[2] qd® &=
[3] safte &=
[4] QST &=

120. IfE FB-fa=O (x, y) < O
T ® T T B B

[1] &TeT
2] FoTE®
[3] gl eFTee

[4] AfE &
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[A]
Which of the following deficit

indicates, how much government
borrowing is going to meet expenses

other than interest payments ?
[1] Primary deficit

[2] Fiscal deficit

[3] Revenue deficit

[4] Budget deficit

Which of the following is the main
source of employment for majority

of workers in India ?

[1] Secondary Sector
[2] Tertiary Sector
[3] Primary Sector
[4] Public Sector

If covariance (x, y) < 0, then the

relation between two variables is :
[1] Positive

[2] Negative

[3] Perfect Positive

[4] Do not exist
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[A] [36]

121. =faRag ¥ q P99 B IEY 121. Which of the following statement is
T ? incorrect ?
[1] MPP, TPP & 89 arctt gfsat [1] MPPs are additions to the TPP.
[2] |sfi MPP & grT%a TPP &Il 2l [2] TPP is the sum of MPPs.
[3] APP g USTR % &N & oS, [3] TPP is the multiplication of APP

TPP & 2 and the level of employment.
[4] TPP [4] MPP is the ratio of TPP to the
MPP level of employment.

122. H-USTIR TqgaT &l [EEIEEEE | 122. The 1idea of under-employment
™R equilibrium is explained in the :
[1] "fafed MUT q [1] Classical Approach
[2] BT fgﬁa'cﬁ"’T q [2] Keynesian Approach
[3] Cﬁ-%ﬁﬁ?ﬁ %'EEEI%UT G| [3] Pre-Keynesian Approach
[4] [4] All of the above

123. fy=ifofad & @ &- 123. Which of the following is not a
P geH T& & ! component of factor income ?
[1] @ [1] Rent
[2] <™ [2] Profits
[3] ff¥a ot [3] Mixed Income
[4] [4] Change in Stock

Level-3/908
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BT HITT
() 9he SAEHE
(i) gu-ATE IqEEr e

(iii) SHHaTE® IUFIRTT

(iv) TS ST

[1] 11, 1,1v, 11 [2] 1v,1i1, 11, 1

[3] 1,11, 111,1v  [4] 1v, 111, 1, 11

HI9d, 9T AT B SIS Bl 8 7

[1] THIiEsR
[2] qof i
[3] STTERR

[4] THITRRITS AT

& HET 56 el Sl & ?

[1] MPP ash 2] VMP ash

[3] TPP ash [4] TVP Tk
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[A]

Starting from the earliest, arrange the
following concepts in terms of their

development in Demand Theory :
(i) Revealed preference

(i1)) Neumann and Morgenstern

utility theory
(iii) Ordinal utility
(iv) Cardinal utility
[1] i, i, 1v, i1 [2] iv,1iii, i, 1
[4] iv,iii, 1, ii

[3] 1,11, 111, 1V

In which of the following market
structure price is equal to marginal

cost ?

[1] Monopoly

[2] Perfect Competition

[3] Oligopoly

[4] Monopolistic Competition

Which of the following curve is the

demand curve of a factor ?

[1] MPP curve [2] VMP curve

[3] TPP curve [4] TVP curve

P.T.O.
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[A] [38]
127. 3¢ AT v 127. Ifdemandis .......... , an increase in
the price of the product leads to a
S R decrease in the total expenditure.
[1] S=RER [1] Inelastic
[2] AER [2] Elastic
[3] 3HE & T AEER [3] Unit Elastic
[4] Qoien Sefi=ER [4] Perfectly Inelastic
128. =ifofag & @ &M- 128. Which of the following is nrot an
TicERl STeTRI T &R 78 § ° example of imperfectly competitive
markets ?
[1] TenieesR [1] Monopoly
[2] UeRIeEpRITS iR [2] Monopolistic Competition
[3] SHAHIEBR [3] Oligopoly
[4] fag= IR [4] Pure Competition
129. f=faRag ¥ q PH- 129. Which of the following factors does
not stall the entry of other firms in
ST F& B 7 oligopolistic industry ?
[1] 9499 %91 g} 91 fasmes =g [1] Huge advertising expenditure
incurred by existing firms
[2] e @ S [2] Economies of scale
[3] dF~il [3] Technology
[4] 7F1 & ghs [4] Increase in demand

Level-3/908
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130. T G SYAET AN B aedd R

[1] TAEY ST 99ET a6

[2] IR SRS HEHT %

[3] et @ ST GHE a9

[4] A IR GG 6

S HHT-3TE P Pledl &, Il € ¢

[1] e;=1
2] e;>1
[3] e,<1

[4] e =0

(4]
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[A]

Decreasing marginal opportunity

cost implies :

[1] Concave Production Possibility

Curve

[2] Convex Production Possibility

Curve
[3] Straight Line Production
Possibility Curve

[4] Vertical Production Possibility

Curve

A straight line positively sloped
supply curve which intersects the

price-axis implies :
[1] e;=1
[2] e;>1
3] e;<1
[4] e =0

In the classical concept, the shape of
the supply curve with respect to the

price level is :

[1] Perfectly Elastic
[2] Perfectly Inelastic
[3] Highly Elastic

[4] Highly Inelastic
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[A] [40]
133. e MPC :f 133. If MPC is i , then the value of
B : multiplier will be equal to :
[1] 4 2] 5 [1] 4 (2] 5
[3] 2 [4] 10 [3] 2 [4] 10
134. 134. Who states that "Supply creates its
S B &7 7 own demand" ?
[1] Sto dio & [1] J.P. Say
[2] o dio | [2] J. B. Say
[3] ®o Wo | [3] K.P. Say
[4] [4] J. M. Say
135. 135. In case of consumption of one
& e & o fpAm ST ®, 99 commodity, consumer's equilibrium
18 attained, when :
(1] a1 %l | STATRIr (1] Marginal utility of Money
Bl %t T TG IR Marginal utility of the Product
=q%] B B = Price of the product
2] aE] %l | STATRar 2] Marginal utility of the Product
G Pl 9HFT STAIREr Marginal utility of Money
=& Wl A = Price of the product
; ELSS| Fl Bl STIREr ;3] Total utility of the Product
5] el Fl e STIREr Total utility of Money
= IUHAET B = Income of the Consumer
ELSS| Hl % STIREr (4] Total utility of the Product
[4] e Pl A STRET Total utility of Money
=qg] H B = Price of the product

Level-3/908
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gis BN W ol 9% I a6

[1] 3R o} faafda 2
[2] It R faafda &
[3] Re} @M

[4] Ui @b W HU & AT =@ B

137. SO B Bl o] ST Bl © ¢

[1] 1 - MPC%

[2] 1 - MPS &

[3] 1 - APC %

[4] 1 - APS &
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[A]

136. Due to rise in the price of a

substitute goods in production the

supply curve of a goods :

[1] Shifts to the right

[2] Shifts to the left

[3] Remains same

[4] Upward movement takes place

on supply curve

The slope of saving function is equal

to :

[1] 1-MPC

2] 1-MPS

[3] 1 -APC

[4] 1 - APS
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[A]

138, Fr=fafed & @ aie-

& AT &6 X I BT BT & 7

[1] ST B T § 9Raas

[2] T a&] I HAd J gRecH

[3] SicReTa %] &l Hiud § GRaaH

[4] &% & AT Hiud § IR

139. frfafeg & & @-
LSRR e M R L W
foram e & ?

[1] Ses gfeeshrr
[2] ASFIR gfeeepror
[3] o g
[4] = gfteh
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138. Which of the following causes a

movement along a given demand

curve for a goods ?

[1]

(2]

[3]

[4]

Change in income of the

Consumer

Change in price of

complementary goods

Change in price of substitute

goods

Change in own price of the goods

Which of the following approach is

not used for the measurement of

National Income ?

[1] Product Approach

[2] Employment Approach

[3] Income Approach

[4] Expenditure Approach
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Predr & 7

[1] AFC @ AVC
[2] AVC @& AC
[3] AFC @& AC
[4] TC  AC

141. =g & @ a9-
fasqyor i T 78 ® ?

[1] HASIR SFTHA

[2] ReR o

[3] F&T i R EiHic SUhIRTT
[4] STRAT I HGD THA

R e o o ® ?

[1] MR=LMCTq P=LAC
2] MR>LMCTq P=LAC
[3] MR=LMCTJ P>LAC
[4] MR >LMCTJ P>LAC
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[A]

140. In the short-run marginal cost curve

cuts which of the following curves at

their minimum points ?
[1] AFC and AVC

[2] AVC and AC

[3] AFC and AC

[4] TC and AC

Which one of the following is not
the assumption of indifference curve

analysis ?

[1] Weak ordering

[2] Constant income

[3] Constant MU of money

[4] Ordinal nature of utility

The long run equilibrium in

monopolistic competition is

characterized by which of the

following conditions ?

[1] MR =LMCand P=LAC
[2] MR >LMC and P=LAC
[3] MR =LMCand P>LAC

[4] MR >LMC and P >LAC
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AT PRt ©
[1] SRR AT
[2] = |
[3] &9 Wi

[4]

9H-
APS F T X Bl 8

[1] T
[2] T
[3] T & #H

[4] ST

IR Sfafy off el Sar 8§ °

[1] o ST
[2] S
[3] erfer <redepra

[4]
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The total demand for goods and

services in the economy is called :

[1] Market Demand

[2] Derived Demand

[3] Aggregate Demand

[4] Direct Demand

The value of APS in an economy at

the break-even point is equal to :

[1] One

[2] Zero

[3] Less than one

[4] Infinity

Which of the following period is also

known as market period in

economics ?

[1] Very Short Period
[2] Long Period

[3] Very Long Period

[4] Cost Period
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146. IR GHFT FHIT 10%
B T 5% €, A T B B

[1] TS
[2] |THeN
[3] @@=

[4]

frfefaa & @ HF-
H ST 78 T 7

[1] FpmT A
[2] ST AFT
[3] ®ed A B AR

[4]

148. T Fl H 20%
SarEd ¥ 10%
zg Refq 1 gutar S ?

[1] T & S Sawe &
[2] T & ReR ufwe &
[3] TN & "ed e &)
[4] URECHSIT STU & | &)
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[A]

If Marginal Efficiency is 10% and
the Rate of Interest is 5%, then the

Investment is :

[1] Profitable

[2] Unprofitable

[3] Independent

[4] Autonomous

Which of the following is not an

example of overhead costs ?

[1] Rent costs

[2] Insurance costs

[3] Costs of raw material

[4] None of the above

Due to 20% increase in all inputs,
output is going to increase by 10%.

This situation is illustrated by :
[1] Increasing returns to scale
[2] Constant returns to scale

[3] Diminishing returns to scale

[4] Law of variable proportions

P.T.O.
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[A]
149.
SR S arer &5 aXER Bl ©
[1] GE=T oM &
2] SirEd TH
[3] % AT &
[4] % T &
150. W IUEEHA & G (VMP)

R o e @
[1] P x MPP &RT
[2] P x TPP &R
[3] Px MRP &R

[4] PXTVP

[46]

149.

150.

GET IT ON
Google Play

Area under the demand curve of a
perfectly competitive firm is equal to
the :

[1] Marginal Revenue
[2] Average Revenue
[3] Total Revenue
[4] Total Profit

Value of the Marginal Product

(VMP) is defined as :
[1] Px MPP

[2] Px TPP

[3] Px MRP

[4] PxTVP

Level-3/908
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The answer will be treated wrong;, if it is marked, as given
H P gR & e ¥ bolow 9 g
oO® @ @ O®® ®
g If you fill more than one circle it will be treated as a
ST wrong answer.

1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
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should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)
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be detached under any circumstances.)
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